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4th Month, 1st Week, 6th Day  |Syllabus: Revision Test

Q.1. Solve the following. 10) - /'U’ /J“ 3%
() 21km 815m (ii) 25km 312m
+ 17km 183 m + 21km 676 m
(iii) 21km 815m (iv) 41km 745m
+ 17km 183 m + 38km 134m
Q.2. Solve the following. 10) - /'U’ /J“ 3%
(1) 51m 86cm (ii) 19km 708 m
- 30m 75cm — 15km 205m
(iii) 67km 891 m (iv) 35km 786 m
+ 51km 760 m + 13km 675m

Q.3. In a long jump, Pervaiz jumps 4m, 25cm in his first attempt and Sm,

15cm in his second attempt. Find the total distance does he cover in

two jumps. Q)
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4th Month, 1st Week, 6th Day  |Syllabus: Revision Test

Q.1. Solve the following. 10) - /U’ :Q 3G
6] 21km 815m (i1) 25km 312 m
+ 17km 183 m + 21km 676 m
(iii) 21km 815m (iv) 41km 745m
+ 17km 183 m + 38km 134m
Q.2. Solve the following. 10) - /U’ :Q 3G
(1) 51m 86cm (i1) 19km 708 m
— 30m 75cm — I5km 205m
(iii) 67km 891 m (iv) 35km 786 m
+ 51km 760 m + 13km 675m

Q.3. In along jump, Pervaiz jumps 4m, 25cm in his first attempt and Sm,
15c¢m in his second attempt. Find the total distance does he cover in

two jumps. Q)
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